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56. Why did the fox want to reach the grapes?
(A) Because he felt thirsty.
(B) Because the grapes were so sweet.
(C) Because he liked to taste sour.

(D) Because the grapes smelled good.

57. What did the fox do when he couldn't reach the grapes in the end?
(A) He still kept trying to jump higher.
(B) He gave up and walked away.
(C) He asked for help from other animals.
(D) He climbed the tree to get the grapes.

58. What is an example of "sour grapes"?
(A) Andrew bought some grapes, but they were sour. He said,” The grapes were so sour, but I enjoy tasting sour things.”
(B) Betty always gets A+ on tests. But, she got B+ this time. She said, I am still the best! I should be happy with my grade.”
(C) John’s friend bought a new car. John wanted one, too. But he said, “Taking a bus is less expensive than driving. I don’t need
it.”

(D) Susan got a letter from her friend, Tim. She said, “No news is good news. Actually, I don’t want to get any news from Tim.”
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1. The coffee _@  (taste) medicine.

2. Their voices sound _@ _(wonderful). They sing _®  (wonderful).

3.Peter _@  (have) his secretary _® _ (call) Mrs. White for him yesterday.

4. Our Englishitreats us _® _ (nice). Sheisa _@ (nice) teacher.

5. My brother & a (crazy) driver. He drives _® (crazy) than everyone else.
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1. Riding a bike costs less than driving. Driving costs less than taking a taxi. (5§ 2L T Riding...B8EE » I AR EARET)
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